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COMMERCE
Advanced Financial Management
(Regular)

Time : 2 Hours Maximum Marks ; 60
Instructions to Candidates:

1)  Answer all the Sections according to internal choice. _

2) Simple calculators are allowed.

3) Section - D case study is compulsory.

SECTION - A
Q@ -

Answer any Five of the following questions. (5x2=10)
SENE CcImmmToe om IZReR  wudal.

1. a) What is cost of debt? How is it computed?
OB ®E@ 20009 oom, Ten SE  ITADIH?
o2 = -
/ba’ What is ethics?
?Jﬁéw?i SOV
¥~ What is Merger? Mention types of merger.
29eS  Q0WBeR?  29enT TFTNTR, YUgeDA.
What is Net operating income theory?
WY TwoleFEtmT SO ATTOS  OTTemd?

&~ What is social responsibility?
TERNT mHRE 20307

/jX What are the objectives of dividend policy?

CRLROT  eSod smc;;wm%em?

,9/ What are the techniques of measuring risks?
TOWA YTCRNY, “Po0F  BoFRHw  CSRRH?
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SECTION - B
KPR -

Answer any Three of the following questions.
NS SHPPTTTR DR IJAYR 00

2.  What is dividend? Explain the types of dividend.
CRZRO3  NOBVERNT?  TREROIT  TFOONTD, WTOA.

/ Differentiate between systematic and unsystematic Risk.

BPaE e SSASTRE wodd ARG, LTOR.
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(3x5=15)

A firms after tax cost of capital of a specific sources is as follows.

Cost of equity 15% 30,00,000
Cost of preference shares 10% 20,00,000
Cost of Debt 8% 10,00,000

60,00,000

Calculate the Weighted Average cost of capital using book values of weights.
20T ACFF  WRONY WOBHYE IoncH TOITE [P B8 FPATO LTI,

é&z}s—% ﬁz;c’d 15% 30,00,000
Siokclew secdny 53 10% 20,00,000
POD ﬁz‘g 8% 10,00,000

60,00.000

OB &aﬂd%ﬁ@abd IBLEROT WOBRYT BnIT ITIRD mgasmi z’jﬁﬁ oS,

/ From the following information, state which project is better for investment? -

Particulars Cash inflows
Project X
Initial Investment (30,000)
Cash inflows 1 year 15,000
2 year 12,000

3 year 8,000

Project Y
(40,000)
18,000
15.000
10,000
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Riskless discount rate is 6%. The management considers risks premium at 6% and
10% for project X and Y respectively for discounting the inflows.

Present value factors Year 1 2 3
PV factor at 12% 0.892 0.797 0.636
PV factor at 16%  0.862 0.743 0.641

FENT RPLSON0T, TRBEN ST odeems emgm DO EYRY

omCER B Xons

Bapds X Bepde, Y
SToDE =R0d (30,000) (40,000)
SN Ronm 1 Fe I 15,000 18,000

5 [EE 12,000 15,000
S BDIF 8,000 10.000

- & TT 6% JIWFHBCZL IO AOR® 00HONE  [ITWED
cleendod X wd Y meh FE@en 6% @08y 10% ST ©TRodT  Leancho

TWE  TFYT  wo3 TR 1 2 3
L&) ©03  12% 0.892 0.797 0.636
R @03 16% 0.862 0.743 0.641

Earnings per share = Rs. 10
Rate of Return on investment = 12%
Rate of capitalization = 10%

On the basis of above information, compute the value of company’s shares using
Gardon’s Model, assuming dividend payout ratio as 25% and 50%.

T2 #e0IT neF = oL 10
DREICH =Dz =odd o = 12%
LOTERVeFoRT T = 10%

BNOT TRHECH SROT e, REPOT TRICH WWIPIIZ, 25% I
50% o0Th Wwka, ReeEER’ m:saosamq wELBROE BOTROH  Reoine
5353@55534 -?3&'«%3335 nIo.

[P.T.O.
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SECTION - C
Wi - ©

Answer any Two of the following questions. (2x10=20)
F9NS olmmmedce dimd A0l IFnen ewgdro.

Discuss the ethical issues in financial management.

TR anFomohd S8 ﬁaﬂa%ﬁ%ﬂ;’o, od23e 5,
-

A company has the following capital structure:

Equity shares (4.00,000 shares of Rs. 10) 40.,00.000
10% preference shares 10,00,000
14% debentures 30,00,000

It is ascertained that the market price of Equity share is Rs. 12. the company has
proposed dividend at Rs. 1 per share. Share holders expect growth rate at 6%. The
company is under 50% tax bracket.

a) Calculate Weighted Average cost of capital.

b) Calculate the new Weighted Average cost of capital if the company raises an
additional Rs. 20,00,000 debt by 153% Debentures, which would result in
increasing the expected dividend to Rs. 2 and growth rate will remain the same
but market price per equity share will fall to Rs. 10 per share.

s ¥

FOTRORS T FEAS  womETeY :w'::.“i.a oRT.
é&%—b‘;‘ e (10 Te. ng 4,00.000 ﬁ“fd)ﬁ@;‘::) 40,00.000
10% SoSck medhnw 10,00,000

14% e TSned 30,00,000
é%:?:—és oS TEoBE P8 12 oot D¥Emend. dojoin ;é‘:, T=eon
), TARAAD. Jehpodr 6% X¢Ein  odnsd

b) somwdckd BJo 20,

LOBTWESE e a’@'écj RoORO 53§me e:ﬁ&'"-:;%, H Q03
TRROTWE, 2 T N BYWSD W UImencd TR e.0ue
BNTET 5:58 B35 R0 mwosy @€ 10 Ce. R |ecknsEd e

eor.
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/9./ Hindustan company Ltd. evaluates two mutually exclusive project A and B. You are
required to present your opinion to the management for decision making process. The
company has made pessimistic, expected and optimistic estimates of the retumns

associated with each of the project.

Project A Project B
Initial cash out lay 40,000 40,000
Cash inflows:
Pessimistic 8,000 0
Expended (most likely) 10,000 6,000
Optimistic 12,000 14,000
Required Rate of Return |
(Cost of capital) 10% 10%
Economic Life 15 Years 15 Years

The present value of Rs. 1 at 10% for 15 years is 7.606.

& OTRTD’ 307D OOt oO0R W00 TBeFwes dRemI A e B
A

e, BPOBRTT SR\, AgRFT ERTERWE Tgodkmen DR VY
BPTVORNW, DTETERNA @@émmaﬁ Sﬁ‘%&-’utﬂ. gozdodw ®E cSeexdn
TOWOHAT OWFFNY  QTITOWRD, SleNtc) Wy CTERh EOTIRSONTT,
BRRT.

daFE, A dapF, B
e300RT DN 40,000 40,000
Tee RONT
QTTOTT 8,000 0
Doeges 10,000 6.000
STOTITI 12,000 14,000
@?136 ow’s OO
(WOBRFT ﬁegs) 10% 10%
SQHET 220w 15 @=&FE 15 =[&F

15 S[REASITR 0% I 1 Sw. A 3:’55*3_;@. 7.606 =NT.

[P.T.O.
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/10./ Swati Ltd. wants to take over Jyoti Ltd. Financial details of both the company are as

follows:
Liabilities Swati Ltd. Jyothi Ltd.
Equity share capital of Rs. 10 each 5,00,000 2,00,000
Preference share capital 80,000 =
Share premium - 8,000
Profit and Loss 1,20,000 20,000
10% Debentures 45,000 15,000
Total Liabilities 7,45,000 2,43,000
Fixed Assets 4,00,000 2,00,000
Current Assets 3,45,000 43,000
Total Assets 7,45,000 2,43,000
Profit after tax and preference dividend 72,000 45,000
Market price per share 38 42

You are required to determine the share exchange ratio to be offered to the
shareholders of Jyoti Ltd. based on

1) Net Assets value

2) Earnings per share

Which would be preferred from the point of view of Swati Lid.?
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D) OntiE® Ei'%é IFAN Rl O, @@edma&m%@a ODIICT.  DTBEL
FOWAOHN TRTOAT WWONEh B3 FYNAT0ER.

G Ene w3 OHE wats dovedn’
B33-88 [ wom®Y I 10 oe. 5,00,000 2,00,000
SH30N WD WoTTRY 80,000 -
Toen  QPLanodo - 8,000
Wy DB TF 1,20,000 20,000
10% = TSN 45,000 15,000
Wi 7,45.000 2,43,000
AT €y 4,00,000 2,00,000
TWE =R 3.45,000 43,000
| Leil 7,45,000 2,43,000
30 TOo8C oy W e:sciééod) oRgod 72,000 45,000
B Reort ooz B 38 42

Bred dntiws Heoreodn drEdinn Hdh MWD SDHIWIDR, Y

S GEEE  TASREShon aiRRm  SnIcERNWIT?

[P.T.O.
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SECTION - D
dpPn - B
/lfl.// Compulsory questions. (1x15=15)
Eierlen e

‘X’ Co. Ltd. belongs to a risk class for which the appropriate capitalisation rate is
10%. It currently has outstanding 5,000 shares at Rs. 100 each. The firm is
contemplating the declaration of dividend of Rs. 5 per share at the end of the current
financial year, The company expects to have a net income of Rs. 60,000 and the
proposal of making new investment of Ra 1,00,000. How does the M.M. approach

effect the value of the company if.
a) Dividend is paid
b) Dividends is not paid

X 30WD On@r wmeodd [NEE Bend, |WHIYN RRTHRD WOBWOE LT
GO 0% SATH, e TWS Jd 100 e, 8P 5000 SeonvEy BRoT.

TIE momHm [RFS 2o3BY T2 FeON 5 CRNY CRLROTHEY TRWFED

[
b
Ly

=
deny FeT AR SREE TWITJT, 000 S somacd =IROT




